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8. I have some questions for today’ s BSMI technical meeting. My client is
a HDD manufacturer. Normally, this company will OEM its HDDs to other
companies such as IBM, HP ,... etc. My questions are:
a.Series application:
[f my client just simply adds OEM s brand name and model number as
a series application, we said IBM, does this application need IBM's
user manual ?
b.Original application:
If my client has gotten the BSMI certificate for its HDD . Then, it
wants to OEM the same HDD to the IBM. The product for my client and
IBM is identical. But, the applicant is IBM. The test report (full
test report) is produced according to the IBM s brand name and model
number except for the user manual (my client’ s user manual, not



IBM). Is it possible to provide the test report with my client’ s user
manual and Dol(Declaration of letter)? Or, can we just provide the
test report and Dol?
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